
Friday 19th June 2020 

Comparisons, Sums and Difference 

Yesterday we revisited how to use Bar Chart and Frequency tables to record, explore and 

interpret ‘discrete’ data. Today we will revisit Pictograms.   

Do these pictograms show the same data?  Let’s have a closer look! 

 

 

 

 

 

 

 

 

 

 Represents 1 child       Represents 3 children 

          Represents 2 children 

                   Represents 1 child 

 

DID YOU SPOT THE DIFFERENCE!  That’s right. With Chart A, you count the whole circles in 

2s and half of a circle is half of 2 which is 1.  With Chart B you count the whole circles in 4s, 

here half of a circle is half of 4, therefore half of a circle represents 2, so three quarters of a 

circle is 3, and a quarter of a circle represents 1. 

1. Copy and complete this Frequency chart using information from Pictogram A 

 

b) Copy and complete this Frequency chart using information from Pictogram B 

c) Tell me something that you have noticed about your Frequency charts? 

Method of travel Walk Bicycle Car Bus Tram Train Other 

Number of children        

Walk Bicycle Car Bus Tram Train Other 
Types of Transport 

A Pictogram to Show How the Children in KS2 Travel to School 

Walk Bicycle Car Bus Tram Train Other 
Types of Transport 

A Pictogram to Show How the Children in KS2 Travel to School 

KEY:          = 2 children KEY:          = 4 children 

A 

B 



HOUSE NUMBER OF HOUSE POINTS 

Beech  
 

Oak  
 

Sycamore  
 

Chestnut  
 

2. 

a) Which house has the most points? 

b) How much more points does Sycamore have than Oak? 

c) How many points does Beech and Sycamore have all together? 

d) How many more points does Oak need to be level with Chestnut? 

 

3. Complete statements and answer questions for the Pictograms below. 

 

 

 

KEY: 

      =  20 

children 



4. 

 

Do you agree?  Has someone made a mistake?  Explain your answer.  

CHALLENGE: 

 


